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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

i ﬁ @- A =l a”_l- Question ID : 9864493664
Status : Answered
gf¥@es : AT dF ShosenlSproni2

Select the related word from the given alternatives:

Transport : Goods :: Banks :

Ans m
F 0
Rupees

ol

v
r Money

A=)

STel
Dollar
< 4 33
Pounds

K3

Q2 el # ¥ R o, ol & S T uigat § a wi argst @
A TG &7

‘Which of the following causes damage to bridges, iron railings and all objects made of
metals?

Question ID : 9864493189
Status : Answered
Chosen Option : 3

Ans He&eldr
' Acidity
2.
Reduction
v T
Cortroszion

W& AT (Rancidity)
Rancidity

X4

Q.3
Question ID : 9864493952

Status : Not Answered
Chosen Option : --
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Ans

9958 69 (problem figure) YRR TG AF6 9619 FLQ (answer figure) A0 Fad
UeQ @5 g¢l 29 aog!

Problem Figure

Twlm] 7]

o|6|0|o]

Complete the series given in the Problem Figure with an appropriate option from the
Answer Figures.

Problem Figure

SNTTEY

@|6/3|g

v i3
X21
X34
K42

Q.4

Ans

U9 36IFe0 cE9E U7 RUR04 AI9E AETIERIRIDmER FIY Q5T Dia) ST

eglmeld|
An Odometer is an instrument used to measure in automobiles.

Question ID : 9864493239
Status : Answered
Chosen Option : 4

Q.5

Ans

‘o cem’ 6268 1@ 2.5 AR 848 91d 02 QIg@ AIsAtal F9e S fha eaN gaIe
QR §999 6% 42059 2104 I gEe A52Ide sen 69567

‘Freedom Trail’ is a 2.5 mile long passage that offers a rich insight into the American
Revolution. In which US city would you find this famous and historic trail?

alaley
Boston
EORER
Denver
RERRRC
X3 :
Connecticut
Satcle
Xa
Memphis

Question ID : 9864492122
Status : Not Answered
Chosen Option : --

o
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Ans

49 6alIcH 990 66 &E JIAER ()RR 256 ¢ 6L §96T G99 eEge weed(Rbas
qeeree] ) 624

If the kinetic energy of a body becomes 256 times its initial value, then the new linear
momentum will be:

r 0

X2

3.

X4

Question ID : 9864493062
Status : Not Answered

Chosen Option

dIoda ¢ay 986 4ae

the same as the initial value
9@ ¢R4a 8 gél

8 times the initial value
dIoEe Faya 16 gl

16 times the initial value
diofe gaie 32 g8l

32 times the initial value

Q.7 &4201763 @196 G2l GEiRG 2l 2867 6aeraln (TG AT Qlkla J2d asm?

Ans

Who took charge as the new Comptroller and Auditor General (CAG) of India in 20177

r 0

X2

v &3

r 8

Foow 6ol

Question ID
Status
Chosen Option

19864492295
: Answered
13

Vivek Goenka

PIom GeIR 654G
Achal Kumar Jyothi
QAP 6716904
Rajiv Mehrishi
QEe gelIa

Ranjit Kumar

Q.8 1+ gigeIal 2018 6AIFIFIQ Jml | FRYe Flig 679 @9 I eAARIAQ PIan 6291

Ans

15* January 2018 was a Monday. Which of the following years will also start on a
Monday?

F !
X2
Vs
r 8

2020

Question ID
Status

Chosen Option :

19864492653
:Not Answered

2022
2024
2023

Q.9

Question ID
Status
Chosen Option

19864494092
: Answered
4
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Aren FEIAIRER QagET ded QIesa Goia @8 B0 Aag 64 FaRye Fug ead Fad
I Qeeip Fae AIgad eelkiaatiel

Q@:
Qa8 daghl slgRIgl da1mica OI9 288 dtEf RIGRIGIY aw G 2]
Gad:

1. UECING B 5 94 6grlss aRgH BIeaIETI

2. 6016 TRISIcR TI9 Ae3 6AFIny Gn 5@ 241

Consider the given statements as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statement:

All studious students pass in exams. All studious students sleep well.

Conclusions:

1. All who sleep well are studious students.
2. All who pass in exams sleep well.

Ans x 1 6RER G99 2 QR4 BgaIe g |

Only conclusion 2 follows.

x 2 6659 G99 1 Qa4 QI 21|
Only conclusion 1 follows.
aaa 199° 2 QY agaia 2|

Both 1 and 2 follow.
e 1 @¢ 2 6al4aT eaay aIgalst Q12|

K3

v

Neitther 1 nor 2 follows.

210 57760 @OlF]a CEWE: Question D : 9864492944
i Status : Answered
The square root of 5776 is: Chosen Option : 1
Ans x 1. 76

v 2 84
X 3. 64
X 4 66

Q.11 Geofge cug 6as 6aaIRe 990 J89 2edl TR0 caese FaIe QTiad?

Question ID : 9864493307
Which of the following scientists had done some calculations for the fifth state of matter?

Status : Answered

Ans o o
x 1 Yl Qe8] Chosen Option : 4

CV Raman
ELITIRIR
Homi Bhabha
¢ AR

Vikram Sarabhai
6Ly RNE 6914

<2

X 3.

v
Satyendra Nath Bose

Q1245 Q16 2020 699 10 6ED? Question ID : 9864492873

What day would it be on 15% March 2020? Status : Not Answered
Chosen Option : --
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Ans Cfmalor
“ Tuesday
sl
Sunday
23 |3 W ]

- Monday
el
' Saturday

A3 Qioml 62 QIET 909 62IR2IM | YLIR FI0E CEeE: Sttt [5G BEETS

Status : Answered

Plasma is formed in the stars because of very:
Chosen Option :2

Ans &9 SIAIg

F !
low temperature

W I

W2
high temperature

¥ 9Id
X3
high pressure

x4 Q¢ Q19

low pressure

~7 =

Q.14 o5& g 2 zZ ) 5 .
4% 69l PR Baae " CEEY 3 @EMIgY] , 6069 IE DCIR BEaE 7 [T Question ID : 9864492741

If% of the weight of a brick is g ke. thenf of the weight of the brick will be: Status : Answered
Chosen Option :1

Ans 5

- @ERIGIET
v
5 kg

&

E@smguﬂ

s
s k8

15 =
— Qeigie]

15
3 ke
2 @emigliel
4.
AR
21 K8

Q15 g 80 ad 55
2kYRe addiia ARSR G271 UISS TR 6Q66? it [ 1S GG

Which is the first metallic element in the Modern Periodic Table? Status : Answered

H
Ko :

Ans Chosen Option : 3

H:

X2 Na
Na

W Li

11
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He
< 4
He

Q.16

9 RRIIIRYS AINNER FIGINeR g9 dIned! TE(gY 69 )g edieas F98 oa /ag |

g9 &g

Problem Figure

N

N
Ay
v

Options

i[O ‘

555>
w] LK
3
S
>

FaggEe
Select the option that depicts the following transparent sheet (Problem Figure) when
folded at the dotted line shown.

Problem Figure

VT

<
W 0u 0

Question ID : 9864494375
Status : Answered
Chosen Option : 1

Q.17

Ans

6615+ 6] €0IEN Gleen TIFl Tioen AEIINR, 6RLT U9 BIFI0IQ ¢F ZIRIaR
COILIRE, IR0 FI0d caad:

A lemon kept in water in a glass tumbler appears to be bigger than its actual size when
viewed from the sides. This is because of:

X1 ZleRIfe FeRUEl
diffraction of light

ZIERIFE 9eUael

refraction of light

ZICRIRR 2IIBNE JoTee
internal reflection of light
ZICRIRG JeTee

reflection of light

v 2

X3

X 4

Question ID : 9864493524
Status : Answered
Chosen Option :2

Q.18

Ans

66IIT AMeREIR x2 - 4x + k = 0 Q60T IR 68a8 x = 3. 2RY ¢JRT 6@66:

One of the roots of the equation x> — 4x + k = 0isx = 3. The other root is:
Kilx=-1
v2x=1
X3 x=4
Kax=—4

Question ID : 9864492736
Status : Answered
Chosen Option : 2

Q.19

Question ID : 9864494110
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Kabaddi

P [ R

3 T u

Foatball Y

Cricket

Kabaddi - 591
Football - fam

Cricket - 56a¢'

QIR 607 SIRGIF AGAL GRS G2l FEPR 6ol 8 PIR) 9EG AA1g HeRIF 68R
e8geel BIGRISIEE 6FlIE €°al ceRd I

Kabaddi

P Q R

= T u

Football | ¥

Cricket

According to the given Venn diagram, the total number of students who play cricket as
well as football and also all the 3 games is .

Ans o 1 S+V
X 28
X3 QtV
K 4a85+Q

Status : Answered
Chosen Option : 2

Q20 SARYS Q1P 6QELYER IR 69C AN OFR?
Which of the following compounds has a double bond?
Ans @eadq
r 0 *

Ethane

, NS
Acetylene
; qee1Q

Methane
@q

Ethene

x

v &

Question ID : 9864493511
Status : Not Answered
Chosen Option : --

Q.21

Question ID : 9864493948
Status : Answered
Chosen Option :2
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GrIcige SeGTY 9o AITea §910 /03 1e° §0903 60 erd Gad GadE GITen 1
PBNQ V9@ celRBI

Q@M:

PRI TR FRHR FRR Fo1 eIeald Aadia Rl 9F AR

Fad:

1. dogia Get ey Argn otiese U1 Gen AIe B89l 65

2. 90RIQ 2RER YoUIEIR Al JReeRelals 92 §oia God ehel afgl
Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statements:
There is an increase in the price of essential commodities due to a strike by the
transporters.

Conclusions:
1. Government should buy their own vehicles to transport the essential goods
2. Government should negotiate with transporters to withdraw the strike.

x caew fad 1 e aga oFE)
1.

Only conclusion 1 follows.

v caer Gad 2 ey agait @8
2.

Only conclusion 2 follows.

X 3 aad 199° 2 6al6ITG @a aAgaIR QIE|

Neither 1 nor 2 follows.
o9 fad 1 99° 2 @aeY agaIal 0F8

Both 1 and 2 follow.

X 4

Q.22

Question ID : 9864493654
Status : Answered
Chosen Option :2
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679 065 gMRIR6R JIe IR QIFF:

s
M X 1 B

Choose the correct picture which follows:

s
X o P

< 3B
X 4D

Q.23 -9q 180 fe o1d 6aq 54 AemIFice/ds 6oisa QIg) @F qIeddisn 02l caIngal F64

@i9q eidgn aGe s sa6s asE 6997 Question ID : 9864492470

Status : Answered
‘What is the time taken by a 180 m long train running at 54 km/h to cross a man standing

on a platform? Chosen Option : 2

Ans 10 64ewel
Ko

10 sec
12 646@e}

v 2
12 sec
, 11 e4eas}
X 3.
11 sec

1369699
< 4

13 sec

Q.24 95 358 exigen 98 MIZZLY g 6RSICN ZIMYLZ 19° PUZZLE § 6Rei9rN ZUPELZ,

6669 BUZZWORD § 99115 621062 @b emside? CUESHER (12 SR - e

In a certain code, if MIZZLY is written as ZIMYLZ and PUZZLE is written as ZUPELZ, Sl s
then what will BUZZWORD be written as in the same code? Chosen Option : 3

Ans X' 1. BUZZDROW
X 2. DROWZZUB
v 3. ZZUBDROW
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X 4. WORDBUZZ

Q.25 1999

Ans

1998

Samsung - AIF1E°G
Compagq - @@
Toshiba - 65184

HP - 9ed

GzIgIege 96 @d 1999 99° 199860 G8a a7 FI0 cRIRgE Sgag edief

1998 63 A¢IQIE FE 2RI 7890, LITIF 1999 62 98 QIR 16.5% QTYMI €569 1999 9567
6F1IG BgRL CISICIY €966 2l I

1999 1998

The given chart represents the sales of different companies in the year 1999 and 1998.

If the total sales in 1998 was 7890, which increased by 16.5% in 1999,
then the total sales in the year 1999 is approximately .

X 19911
V2 9101
# 39119
# 41919

Question ID : 9864493950
Status : Answered
Chosen Option :2

Q.26 Ggeq TRUARSI 686N FRIER 6Q6SIT A°6MI SIFIEER 0E2IQ e Fial agd

Ans

Seuay?

563248889266588343

In the below series how many numbers are completely divisible by the number on right?

563248889266588343

X4
VEN
K36
K 43

Question ID : 9864493754
Status : Answered
Chosen Option : 2

Q.27 Gg geiea, sale™ 2an 2goEs 2@ QIR ggeiea FE(NTIal edded | o SeegEeg

Ans

AGOES ARG 908 K93 |

E,J,O,T,?

In the following series, one letter is missing as shown by the question mark (?). Select the

Question ID : 9864494247
Status : Answered
Chosen Option : 3

missing letter from the given options.

E,J,O.T,?
X1z
X2wW
vy
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X4 X

Q.28 Gggie aIee oIz SRR g8 mia 9029l 2017 &9 69 TIQ 694 efiginds 6a90

Question ID : 9864492389
[Sulninlintdivlie

Status : Answered
‘Where was the 2017 World Rapid Fire Chess Championship played, in which

Viswanathan Anand regained his title? Chosen Option : 4

Ans
X1 L
Chennai
) BeEml
Oszlo
oo
3. @
Dubai
, QG
‘Riyadh

x

x

Q.29 GeigipgQl eeeigey Gola @ag Ye° 80 @98 64 676 69 Jow 9 I
SR 2 2 L Question ID : 9864494319

Status : Answered
aq Flses M@ 980 24 caIReN &2 Chosen Option : 1

<

ow:

1. € 9a8eese o=l @ggdie saiaeI
2. G, ARslsacsn F5adeGe a9 PG 480 salneM|
Read the piven question and decide which of the following arguments is/are strong.

Are stock markets sources of wealth creation?

Arguments:

1. Yes, money multiplies in stock markets.
2. No, investments in stock markets are subjected to market risk.

Ans X
SWeE w2 |
v @Q

Only argument 2 1s strong.

x 64 199° 2 5Q6a 93
§ Both arguments 1 and 2 are strong.
ea 1 @gl o 2 67ldaeT 9@ geel
xe Neither argument 1 nor 2 1s strong.
x4 cmae 6@ 1 9al
Only argument 1 is strong.

Q.30 o GEIRYl, 6RICEERER . Q BELUIS QRIDN, BEAUTITR €4 -—. 1 696 QEIPSIE 6208:
S, 3’ g ’ &1 12 & Question ID : 9864492681

A fraction, when taken away from i, gives i The fraction is: Status : Answered

Ans 3 Chosen Option : 4

r 0

i =
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Q.31 6gfa@ 60T @ 2:39:40 IR 2Q R6R 19° AR T212:30:34 AR AT G6RI 6669
PRE 6w6e AFE OdiE YR9Rln CRIROERI?

Shrenik switched on a bulb at 2:39:40 hours and switched it off on the same day at
12:30:34 hours. For how long was the bulb in switched-on mode? Chosen Option : 1

Question ID : 9864492974
Status : Answered

Ans v 9 gl 50 §i6¢G' 54 66
0 hours 50 minutes 54 seconds

, 10 <109 G606 cd6@<)

10 hours 09 minutes 06 seconds
, 999109 {16006 cdeadl

0 hours 09 minutes 06 seconds
, 12€9140 56 06 edeadl

12 hours 40 minutes 06 seconds

<

x

.32 = ~
¢ EU@EII‘EM 2018 ?JR‘HIGQ, ] Geoee '?l‘.’;‘.‘lLlﬂm ac3? Question ID : 9864492157
As of February 2018, who is the Chief Minister of Kerala? Status : Answered
Ans o= Chosen Option : 2
HECIS QlEl

Ko
Oommen Chandy

dolola Sae
2 ;

| Pinarayi Vijayan
@9 PINQIRRR
x 3 £y Q LY
VS Achuthanandan
, <169 2e8q

' AK Antony

Q33 GoRge fQ ceRk e AUE0R YREQIRISR? Question ID : 9864493252

Which of the following is an unsaturated Hydrocarbon? SIS BT

Chosen Option : 2
Ans qg_q ggg:

F

Butane
X 2 cadeg
Pentane
egleds
3.
Propane
- @fy
v W
Ethyne

Q.34
Question ID : 9864493959

Status : Answered
Chosen Option :1
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Feldiayel 09 §010 @9g 95° 30 @0F 6 629 ARFe/Agngia odea 2aR@0 g
o

9q GAleq 201262, Feall GF @E5q, “GIe CI% @4 FrIER FRIGE U8R FRl ORI

2GR

1. 9210 2Kl 9Rg SEI6Ig 21 e eaIE geae g
2. GG 294 9183 64l dCIQ OF BOGIER OF QAT Fikl (RIgE 639

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

During an election, the opposition party said. “look at the price rise in the last five years™.

Assumptions:
1. This time, give a chance to our party for power.
2. Prices will still rise if you choose the same party to be in power

x caee gl 2 §E6 21F|
1.
Only assumption 2 is implicit.

x caee Fgale 1 586 21F|
2.

Only assumption 1 is implicit.

x 3 199° 2 6Ql618T G&6 QIF |

Neither 1 nor is 2 implicit.

v aael 1 99° 2 G806 2151
"Both 1 and 2 are implicit.

Q.35 GeRge fug 089 6wE 2 SIY, 2EHaRIF] 8 IeRIRSIFA 9549 dhiees afar?

Ans

Which component of the blood transports food, CO, and nitrogenous waste?

1 6% QacmlE

WBCs

0 6gleems
2
Blood platelets

AlR 0261
3.

RBCs

" css

Plasma

Question ID : 9864493536
Status : Answered
Chosen Option : 4

Q.36

Ans

@190 8106 Qa @'6?
What is the full form of GST?

EEeEClm 64y CUIY
X1
General Sales Tax

Qs 64ty ST
2,

Grand Sales Tax
ged €4y SHig
3.
Goods Sales Tax
vy Qe i< EI@E‘EI‘EI\ Sy

Good and Services Tax

Question ID : 9864492188
Status : Answered
Chosen Option : 3

Q.37

Question ID : 9864493410
Status : Not Answered
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Ans

6U6EER62 9@ GINER G FIR6EEq 989 @AIAN 68 AI fFe QW a4Id Fde g9 l

Chosen Option : --

GIRI0 @17 @'dl?
Name the reddish brown gas evolved when Lead Nitrate is heated strongly_

GlERIRERIER AgIne:

.1 Di Nitrogen Oxide
FIPCR EFIaE

' Nitric Oxide
FIEETIEER 66RIgInG
Nitrogen pentoxide
FIEERIeER Qe 2gIae

‘ Nitrogen di Oxide

Q.38 SoRgo I 699 FERI SRR G648 BIY SHRIR §E?

Ans

Which one of the following female athletes is not a squash player?
2RI SRR

Question ID : 9864492290
Status : Answered
Chosen Option : 4

r 0
Anaka Alankamony

. 6Rlerq eF
W2 2
Koneru Humpy

2 [g(= Kg[[mlala]
X 3 :

Dipika Pallikal

ewlgl Sadl

X4
Joshna Chinnappa

Q-39 ggo @6 @9 FauId eaig @4 UIng 9GgLIHBg gLITN:

Ans

Energy possessed by an object by its position or configuration is called:
9oe 98

Question ID : 9864493541
Status : Answered
Chosen Option :1

W
Potential energy

, s &
Kinetic energy
268@ €12

’ Nuclear energy
QIR

: Electrical energy

Q.40

€18 €16 “UNIVERSAL’g Gl 96160 961a D2l ~8° geaia Bfog e @auizm oml 1,
2,3... 9IF1Q 35 AGLIE S48 SQIE §567 TYET 940 FE0 A°HHIAR AR UISITR 629

If the letters in the word “UNIVERSAL’ are arranged in the alphabetic order and each
letter in the order is assigned a numerical value of 1, 2, 3... according to their position

Question ID : 9864493998
Status : Answered
Chosen Option : 4

from the left, then the sum of the numerical values of the position of the consonants will
be:

Ans X 1. 32
v 2 31
< 330
X 428
Q.41

Question ID : 9864493555
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FORSe FrIg 6296 e 98 @1eas! RIa Fedaq gew? Status : Not Answered

Chosen Option : --
Which of the following is NOT a characteristic of dicotyledons plants? i

Ans T QuIgeeq o3rld 699 9FalN
v These plants have fibrous roots
@ @AIgEaa 651G QUIT 699 Q@2
" These plants have a tap root
€ 9AIYERa 99T @1eag @Falrd
’ These plants have 2 cotyledons
1€ QEgean SIRgD dial el

K 4
These plants have reticulate venation

Q42 Goitge 9 6gdN FrIQ AR F6T 19T Question ID : 9864494334

Status : Answered
Chosen Option : 4

O OO

1 2 3 R 5
Select the odd figure out of the given series.

AD|OTH IO

1 2 3 4 5
Ans x1.3
X 22
X34
Vs

Q.43 co6 cRSREs SINSTE PRIsT CeUIE ‘AIsl BlBeR 2ie fee! 201765 gRlEe cRIRARI?

Question ID : 9864492201
Who is the author of the Indian English Novel ‘Sita: Warrior of Mithila® published in

20177 Status : Not Answered
Ans x ngﬁ [ [l Chosen Option : --
1.
Rahul Mehta
X 2 Q@e adl

Robin Sharma
EEa G101
3

~ Amish Tripathi
BPEh Wole
X 4
Chetan Bhagat
o 20’ 289a748 0 fal.ﬂl_g_ ﬁ: Question ID : 9864492842
The HCF of 20, 28 and 48 is: Stafus :Answered
Ans Chosen Option :1
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Q45 [, ol el s m
Sub

w [70]|90]s0] 85

x [s55]80 ][9]0

¥ [60] 209040

z 90 [ 80 | 40 | 65

SR ECTM SI0E4 |18 W, X, Y, ¥9° Z QI6Q15 894 P, C, B, %° MEQ 9I9 @52/e1
afjegag @4 6a80 g6 Sanea agenle a9e 68ag 100 |

P 99" C 62 4RID(671IG 6515~ @4IfiaeR) ol0nd SI9wa YRR @7 6R6s:

stuf

Sub P C B M
w 70 90 50 85
X 55 80 95 60
Y 60 20 90 40
z |90 80| 40|65

The given table represents the marks obtained by four students W, X, Y and Z in four
subjects P, C, B and M, with the maximum marks in each subject being 100.

The average marks of the four students in P and C together (round to one decimal) is:

Ans x 1. 69
X 2. 68.3

< 3. 68.2
v 4 68.1

Question ID : 9864494386
Status : Answered
Chosen Option : 4

Q.46 casew &F 66t BU6a 6ot @ dRIKiag | 9f 60t ¢F e 2Ig 18 671 AIReR e°
& g 571 AR 21T 6069 AgRlt __ 9F 28

Some books are arranged one above the other. If a book is at 18% position from top and 5t
position from bottom then the total number of books is:

Ans x 1. 23
X221
X320
22

Question ID : 9864493808
Status : Answered
Chosen Option : 4

Q.47 ‘qior QuIEes 986 6ufiB dgRe, 606 @gol 99 dgde|
‘Car’ is related to ‘Garage’ in the same way as ‘Hen’ is relatedto .
Ans | el e
Stable
, deaal
Coop
Qe Gl

Kennel
qeie

Shed

v

X 3.

X4

Question ID : 9864494214
Status : Answered
Chosen Option : 3

Q.48

Question ID : 9864493776
Status : Answered
Chosen Option : 2
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Q6 QEILIRYR| TR ERECIT GRS AET?

Ans x 1.16
X219
V518
X 417
Q.49 66t Bems FHIGER CHRGEAIRFR 620G TR0 FLINYRI 66 QIR @ TIRE

Gélra(emIdaag B afaas) eeRd 16 19° ¢likl 688F 25 6569 GITHG @ g4ad
6@657

In a cricket match, the scores of the players are considered such that coefficient of
variation of scores is 16 and mean is 25.then the variance is:

Question ID : 9864492497
Status : Not Answered
Chosen Option : --

Ans X112
X238
V316
X a4
Q.50 66liEH QUIclER QIR om 986 Ags $RA AGUIC c2el 491 98 18 SNIdeR Blye 65 4ge

P B2 AR EF6R TR Of JEG 990 RS AFUIE 629 1:31 9% UIGIER 6R661E Gln
R 0EG?
In a bag the ratio of red balls to green balls is 4 : 9. If 6 more green balls were added to the

bag, the ratio of red balls to green balls would become 1 : 3. How many red balls are there
in the bag?

Question ID : 9864492966
Status : Answered
Chosen Option : 2

Ans X 1.9
w28
X312
X 410

Q.51

PEQIT A°GI 16, 28 19° 42 Q M.l G|, 6LRE:
The LCM of the three numbers 16, 28 and 42 is:

Question ID : 9864492702
Status : Answered
Chosen Option : 3

Ans X 1.252
< 2168
V' 3336
K42
Q.52 10 o9 a6a 9G°d S8l 968 PUISAMFFR AAULAG 62319 gFl 52 | 12 96°9 96a Laield

Ans

98 Q19 54 §41 9§ RUTLMIR P 95° SRFIER 12651 GIE"26R 16 0F 2w AR
20213 666w 62 11661 RG°d60 6866 AR @E6w

After 10 innings the average score per innings of a batsman was 52. After 12 innings the
average rose to 54. If the batsman had scored 16 more runs in the 12% innings than in the
previous one, how many runs did he score in the 11% innings?

X 154
X 253

Question ID : 9864492858
Status : Not Answered
Chosen Option : --
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v 3. 56
X 4. 55

Q.53 caa aleel G908 Hece aLarUIdain 6o 2T aad (RIRdd)e it aIeea Aelne
6RIBZEM?

‘Which Indian industrialist was recently elected as the Chairman of the International
Chamber of Commerce (ICC)?

Ans F6@4 2g)Ia1
F !
Mukesh Ambani

, el fliam
Lakshmi Mittal
5 Zam SN
Anil Ambani
gam fdam
Sunil Mittal

x

x

v &

Question ID : 9864492244
Status : Answered
Chosen Option : 1

Q.54 §3a a6 94@ 60151 @IAg G9g 8 U9 6nsi QIFl @3 16 TR6R 699 FOTIREI 6R65 Bl
N gt [IF1R 2 gl 2l 9Rae AIgeel aidig Geg 12 a9 endld IF 8% 10 §ae0
cad KRIEee?

G169 296019 AFR Al din AdHAgEe GaaIeEl cage ge Agaea aqig!

30X16X8BX2x

A)M,; =

xx12x10
20x16x8  Myx12x10

B)

M,D.H, MZD:}:]‘Z
O W, W,
D)M, — 64

Thirty men can do a piece of work in 16 days working 8 hrs a day. How many men are
needed to complete another work, which is twice the first one, in 10 days working 12 hrs a
day?

The following are the steps involved in solving the above problem. Arrange them in
sequential order.

30x16XBX2x
ffﬂi;g’jﬁ;‘:sm
)MJH _MDg
ousi ok
D)M, = 64
Ans X' 1. BACD
< 2. ABCD
v 3 CBAD

X 4. ACBD

Question ID : 9864492569
Status : Answered
Chosen Option : 3

Q55 )0 guEEgRER QIR HGR 696 £2RE:!
The speed of sound in air at 0 °C is:

Ans  of 1331 ps—1
X 2. 331ms
X 3. 330ms

#4330 ms?

Question ID : 9864493523
Status : Answered
Chosen Option : 2

Q.56

Question ID : 9864494307
Status : Answered
Chosen Option :1
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FRYe @A AuQ &R 2dF Qi8]

O|(UIE|T/|I
1 2 3 4 5

Select the odd character out of the following series.

O|IUJE|T]|I

1 2
Ans «14
X2
X3
X 42

w
B
wn

Q.57 Qeicinagel 56 9916a REIRER 679 RRAT ET FIag?

. PY . 0

?

Select the option that will fit in the blank space in the given figure series.

. » - ]
?
L] .|® L ]
Ans
]
F !
[ ]
[ ]
<2
[ ]
.
< 3.
| N
. []
W 4
[ ]

Question ID : 9864494162
Status : Answered
Chosen Option : 4

58 Qleauele @ QIERIGIE Ll FIQl 98 eLIReIN:

Biogas is produced from biomass by:
Ans ga <IeR
' dry distillation
, Urée Qe
fractional distillation

x

Question ID : 9864493085
Status : Answered
Chosen Option : 3
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| AeIEetaL @ga

-
anaerobic fermentation
Hiellvle diew

x o S

. destructive distillation

Q.59 5

Ans

Q60 TR Yole EPIee ddaaen g 4oim el |

—ou

The given symbol stands for a/an in an electric circuit.
PERRER @
v ) ol g

glectric bulb
, FYIEE

' battery
el @1
3.
plug key
X 4 EQEER)

resistor

Question ID : 9864493486
Status : Answered
Chosen Option : 3

Q80 glieas ga gl GeR QRN

Ans

Prostate gland is present below:
@R

1.
the kidneys
Fauus

2
the scrotum
qerae

3

the urinary bladder
et
the penis

x

p

Question ID : 9864493617
Status : Answered
Chosen Option : 4

Q.61

Ans

6 QIRA A48l 699160 QIdY &8, 6aIG HIR gAY 1 046 94 QRIS | g gar
QeIe V21 FRY AASIE Y9 PGErd QI QRl, 519 Q9I60 YRIe AAGIE 1@ ARA”S QIF
QR, GOIE QGIER IRI0 BAGIE 1Q BFPE QIKY ORI, 092 AU 110 ARIOE FAGIO IR
0edPd QY ARY, IG° QA FHIEE. IRl BeY AFKIA 1@ GO GEQIQ QA 62R | 9@
19 ARG Fal AT QIKY QAG! QAN B 99 121 G4 6660 QLY 965 6650 AR
Q99 CRAN6R J4 KRAIER | B0 21960 P99 OR FAITS 999l 1 UIRA AT §RY g8
5 Q9I60 94 62ARIN, 6IES6R6R SERITDIR AIRA IR0 FIKH Q2N | 9E 66ITN AAUER
QY 6716E QIR Q1A GRREIN 6269 FRILR QPYF ARA 94 @AY 6261 ACINEE HIR

[2ialalisiagd

A pipe. working at full speed. can fill an empty cistern in 1 hour. However. during the first
hour it worked at one-twelfth of its capacity, during the second hour at one-ninth of its
capacity, during the third hour at one-sixth of its usual capacity. during the fourth hour at
one- fourth of its usual capacity and during the fifth hour it was only one-third as efficient
as it was supposed to be. A second pipe also displayed similar performance, but if it
worked at full speed would have filled the empty cistern in 2 hours. Together with a drain
pipe that drained water out of the tank at a constant rate, the empty cistern could be filled
in 5 hours, all the three pipes working concurrently. How many hours will it take the drain
pipe to empty the filled cistern if no other pipe was functioning during the time?

<116
<215

Question ID : 9864492891
Status : Not Answered
Chosen Option : --
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X310
v 12

Q.62 goq g CIgl 20 edel 88 2dIegel GaT FUe K95 |

SMILE

Select the option that depicts the correct mirror image for the given word.

SMILE

Ans 1. WITE
X 2 AITWS
X 3 ELIMS
W 4 JIIME,

Question ID : 9864494213
Status : Answered
Chosen Option :2

8 Ce@ QeI Agage 99 9U8 Kag|

@018, Pl 69°% , FIg

a b ¢ d
Select the odd figure out of the given figure series.

Tortoise, Crab, Frog, Fish

a b c d
Ans X1 p
v2d
X3c
X4.a

Question ID : 9864494231
Status : Answered
Chosen Option : 3

Q.64 564 @48 64l GG 1,500 6°@1 60 Gaem 99° 9917 129% AINeR 8 @6m| 6669 698
Fodq Pg R 69667

A person bought an item for 1,500 and sold it at a profit of 12%. What was the selling
price of the item?

Ans 1,662 ¢°Gl

1.
71,662
1,680 °%

2.
71,680
1,620 5°%

3.
71,620
1,800 ¢°@

4.
71,800

Question ID : 9864492848
Status : Answered
Chosen Option : 2

Q.65 ‘gl orGan feaae 4 Q197 4e60d 2I1SaIed 9596 2F oRa eFsl g4 anesea
QAQIEN PRl 62, ST QIF @62

Who is the director of the film ‘Poorna’, which depicts the story of Poorna Malavath, the
youngest girl to climb Mount Everest?

Ans

Question ID : 9864492433
Status : Not Answered
Chosen Option : --
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QRIS @SN
r 0

Anurag Kashyap
2R I

Ayan Mukherjee
QIR 619

Rahul Bose

666l @1gEae 6616Q

Gautham Vasudeva Menon

X 4

Q.66

o8 g9 g 590 @03 1e° §0 @0g G Age 6ae ee F 94 0 280 699l disl dsag ]

ERICERNISR FIRIREE QR @él 0857

e

1. A180 0Ff 986 dIRNCa Q& A7IR]
2. 9l@ace QEf 2GS Kge|

Consider the given question and decide which of the following statements is sufficient to
answer the question.

What is the colour of the granite in the kitchen?

Statements:
1. The colour of the granite is the colour of the wall.
2. The colour of the granite is very bright.

F !
Eaonl CI68A 6L CLEBERER @ 6a0q 2 TRIUINYT Jga fae 6541 <lig eaa
Q6|
1 alone is sufficient while 2 alone is not sufficient to answer the given question.

X2

6ReF 2 621G 6xI92IN 6CEE696R @ caee 1 GRICI9S! 4a 980 ceel Cig d6aig
6% 1

2 alone is sufficient while 1 alone is not sufficient to answer the given question.
Vs
ceew 1 @3¢ 2 GNP 94 299 609 Jinl 62| g6%|

Neither 1 nor 2 is sufficient to answer the given question.

X4

@il 199° 2 @EIIEJI@EJ“E‘I gl WEltl 699 L62E |

Both 1 and 2 are sufficient to answer the given question.

Question ID : 9864494078
Status : Answered
Chosen Option : 1

Q.67

Ans

@6l FIZlx 8 90T VTG AILIIIER SIS RN, R RSP FRICT:
The embryo gets nutrition from the mother’s blood with the help of a special tissue called:

Al
Cervix

2 lwfm

Placenta

QU

Uterus

@geIgal

' Fallopian tube

Question ID : 9864493258
Status : Answered
Chosen Option : 3

Q.68
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RO AUGIFT 6269 FRAGIQ FR1q ARISEE CRYRI?
When was India's capital shifted from Calcutta to Delhi?

Question ID : 9864492111
Status : Answered
Chosen Option : 4

Ans %4 1912
W 2 1911
X 3.1910
X 41905

Q.69 &qIE Qgae 80 afiers 20 ARe/cdcnd 696160 Q5 TAGRT AUTEE ERTE KA | 35
696049 Ig] 959 T6a T Q8996 g7 947 §499° 989 sdIsls F8a cTiaai | Al
€6RQ RERT IR g8 9918 90 9F Q6q| 92 I eweeq agfelr:

A rocket is launched to travel vertically upward with a constant velocity of 20 m/s. After

Question ID : 9864493140
Status : Not Answered
Chosen Option : --

travelling for 35 seconds, the rocket develops a snag and its fuel supply is cut off. The
rocket then travels like a free body. The height achieved by it is:

Ans x 1 800 fiea
800 m
x o 700 figa
700 m
o 120 figa
720 m
x 4 680 & s
680 m

Q70 oo A°GYIQ 30% CERE 33| €06 LINIT €ReR7?

30% of a number is 33. What is the number?
Ans « 1.110

Question ID : 9864492826
Status : Answered
Chosen Option :1

X 2.105
< 3.120
X 4115

Q.71 ¢28 ogla QUBLSFIIS! 2EE6R 64 AITNYFeR gIes cxaf cagien 219G @gaa
Gtnda aear @ el geidy?

Name the Russian chemist who stated that the properties of elements are a periodic
function of their atomic masses?

Question ID : 9864493094
Status : Answered
Chosen Option :1

Ans  GrIGERIN
1

Mendeleev
x 2 L [ ]leionacm [oh]
Markovnikov
G
3.
Zaitsev
, faaratato NN
' Zelinsky

Q.72 cqlIt g Q=i aid 604 936 6aITH GEeE Q19 694 9RE 6aId AFR 60° 99° BIRa
F19 604Q QIO AT CIERQ 220 6RIG AEF 30°0F GIYRTR ER6! 507TR, TILIR AFS!
69667

The angle of elevation of the top of a hill at the foot of the tower is 60° and the angle of
elevation of the top of the tower from the foot of the hill is 30°. If the tower is 50m high,

Question ID : 9864492616
Status : Not Answered
Chosen Option : --

what is the height of the hill?
Ans =i
v 150 ¢19'Q
150m
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?<2120@QQ
120m
?<31oﬂﬁ@a
100m
?<418ﬂﬁga
180m

Q.73 2564 aEIea 78% G40 AFas | 6915 663 G9a AIaeE, aomie g4 aay emee?

Adithya got 78% marks in the examination. If he secured 663 marks, find the maximum
marks.

Ans o< 1. 800
& 2700
X 3750
v 4 850

Question ID :
Status :
Chosen Option :

9864492527
Answered
1

7 QORNYE P 699 L@ 6AITR CeGNl QL
Which of the following numbers is not composite?
Ans o/ 1109
< 2161
#3203
< 4209

Question ID :
Status :
Chosen Option :

9864492834
Not Answered

Q.75 Sales of Bikes in India as per the Colour in

2009
30%

5%
1%
20%
15%
: b 10% 10%
10% L ™
5%

SERERN !
N s 1

Blue Green Golden Brown Black silver White Red Yellow

@@ ISl HIGAIN, 676 95 JER0 AIRR 55% &FIlE §F 6277

Sales of Bikes in India as per the Colour in

2009
20%
I 10%
Red

Yellow

30%

25%

20%

15%

1% 10%

10% &% %
5%

5% I I 3%

- n 1

Blue Green Golden Brown Black  silver

: ooeee——

Based on the given data, determune the bikes of which colours will make a total sales of
55%7?

Ans x 9%, 9, @@ 9e° QIR
1.
Green, silver, blue and red

QIIT, @91, 919 9" geaR
xe Browr, black, blue and golden
Qe d9a, e, @9l 18 QIR
v Blue, green, gold, black and red

QIYIF, @R, FIR e° 9EaR

Brown, black, red and golden

Question ID :
Status :
Chosen Option :

9864494252
Not Answered
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